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Q. No. 1 (n to g) carries 1 mark each (any four)......ueccrepennee. Ix4 = 4
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1. Answer any four of the following : 1x4=4

w5
(@)

(b)

(c)

34T GEOG

R 51fQ6) 2@ Ted &4 g

Which one of the following is an economic factor influencing
the distribution of population ?

TR [Aesee dor (ARl OFR (@Ml Sdafes TR 2
Choose the correct answer :

&% ©GICh! IR Bl sar ¢

(i) Climate (1Y)

(i) Soil (w5)

(iii) Minerals (% 1)

(iv) Landforms (Z&ghe)

Which one of the following is a secondary activity ?
fare Ry fass e ‘
Choose the correct answer :

&% TGIh) IR THedr ¢

(i) Paddy cultivation (4Cf)

(ii) Mining (37)

(iii) Chemical based industry (FAR=SS Emyel)

(iv) Tourism (#iF5A)

Which one of the following is not a tertiary activity ?
Feaie (@ Tos e 773 ?

Choose the correct answer :

&' CesCo! R Tl ad &

(i) Advocate (TF1&)

(i) Teacher (=)

(iii) Industrial worker (SIS 1)

(iv) Doctor (Tl&R)
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(d) Which one of the following is a secondary activity ?
= Srafe o o e
Choose the correct answer :
&7 CeI(hl 7 Claed ¢
() Farming (F@)
(i) Manufacturing (Fsfiet F1)
(iii) Hunting (¥R F)
(iv) Trading (I S)

(e) Which trans-continental railways of the following connects
Halifax city with the Vancouver city ?

ARG (0 SNERIRWA I (@9 (ZEEH 53T (O3 Ol 5331 9

Fgealel FRCR?

Choose the correct answer :

w5 Geach! IR Clered ¢

(i) Trans-Siberian Railway (GF-BIRSI .(?IG"P{QI)

(i) Trans-Canadian Railway (GH-SH1G] @A)

(i) The Union and Pacific Railway (REFIH SI% 2% (I577(¥)

(iv) The Trans-Australian Railway (GF-SIGGETH (@@79)

() Which one of the following types of economic activities
dominates in all rural settlements?

FECA! &I GAICS TeR (FRRY JfE I 2
Choose the correct answer :
% Goahl AR CEHGT 5
(i) - Primary (2N3f=)
(i) . Secondary (faSa=)
(i) Tertiary (TOTIF)
_ (iv) Quaternary (594%)
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As per 2011 Census, the population density (persons per
sq. km) in India is

205 bR A S SEER TR 9 (I ofs =6l ffn) e
Choose the correct answer : |
oo TEdh! A Clmedr ¢

(i) 313 (e39)

(i) 328 (©3%)

(iii) 382 (9rR)

(iv) 390 (9xo0)

2. Answer very briefly : (any four) 1x4=4
oI 53 Y&’ Wl ¢ (e s1f<o))

(@)

(b)

(c)

(d)

(e)

"

(g)

34T GEOG

Name of the state where Hooghly Industrial Region is located.
Tsifel TOisl WieE A1 AT AW

One mining town of Assam

TR 93F YRAefeE 97

One administrative city of Assam

AT 93 IE 5RR

One type of Non-Ferrous mineral

GRY G-ETE e R R omie

Location of Tata Iron and Steel Plant

i1 (=-S1a1 ErmisR ke

Highest amount of sugar producing state of India
TRE] FAE (5] TeoAma = AenLs |
One National Park of Assam

AR 9 IABT TR
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3. Answer in brief : (any ten) 2%10=20

o3 Sed W ¢ (Frwica 7zbr)

(@)

(b)

(c)

(d)

(e)

(g)

(h)

(1)

0)

(k)

34T GEOG

Write two major causes of population growth.

Gl g 7or 927 FRA F40 '

Mention two types of subsistence agriculture.

73 4T (oilad IR GrEd I |

Mention two types of plantation agriculture.

73 FRE (S1ei R S w4 |

What are the two main factors affecting mining activities ? -
W TS Ao ReR T4 daH F9F 707 7 &2 |
Mention two types of animal based industries.
tafis M wiHiie 72 oRa SR A

Which are the two main factors of population migration ?
GG A FRd 7o) [ /e

Give two reasons of low level Human Development in most of
the Northern States of India.

TGS SO ACPYRA TEAFIHC0R 7 A=W THI< 9 WxIH @_1w 757
TR el | '

Mention the name of.two mining towns of India.

ORrea 79 AR Ao A SEd w4

Mention two zaid crops produced in India.

SRS TeolMa (R 79 Gam R R A S 4|

Name two cropping seasons of India.

©RSI Ol TR Awgd A fert L.

Name two non-metallic minerals found in Assam.

TS (PR 7Y S-drofie WRE wmidE 99 1
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Mention two Industrial Regions of India.
SlFeR 701 ST T AW TrEd T4 |
Name two International Airports of India.

SlIed 75! Siwsifed oW Iwes Jm foa

Answer the following questions in about 100 words each : (any nine)

3x9=27
Tl erpTER ofStoR ©€a Yoobl =R foeaw Wal ¢ (frwiear 7@b))
Who are considered as literate persons in India ?
OIS (TR W Jhed FiFs g say =1 232
Discuss the approaches to Human Development.
N R 212 ke S 31|
Mention the main characteristics of Foot Loose Industries.
o B SmieR U Reaerz Smd 71|

Write the basic difference between barren land and cultivable
wasteland.

sifcoeil Siw FREEA sfsoghl Twe I 34 i &

Discuss briefly the major causes and effects of depleting water
resources in India.

TIRTS TETAW T 2 (AR I FEE S OF AR GYF o1 4 |
Write briefly about the knowledge based industries.
wiHfefes Srisik atm syt o

Write briefly on the types of industries on the basis of ownership.
TP ITes Wige ©ls T FEres [ s

Write about the Hill Area Development Programme in India.
TIRTS AR W T L5 [aca F i

Write about the Satellite communicatidn system in India.

TROS BAURE TR [ WHiICEls JER [E
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() Discuss about the importance of Rail Transport in India.
TS (FF AARAEA FAZR GFY INCEnAl 9|
(k) Write the main causes 'and consequences of.Air Pollution.
Y 29T 2] TR WF TR [RACT |
() Write a note on Petrochemical-industry of Assam.
SR (AT AR Sl eoRS {6l (O e
S. Answer the following questions : (any three) 5x3=15
wors Wl ez el frat ¢ (et fofor) .
(a) Give the definition and explain the importance of Human
Geography. - . 3+2=5
T PreleR @ fral S TR e 3¢ 390
(b) What do you understand by density of population ? Mention
the major factors influencing the distribution of population.
2+3=5
TR TG JeTce 6 I 2 iR Resers eor (AItedl Y3 SRR
S B9 | |
(c) Write about the factors affecting tourism.
AT ORI T IR R &3
(d) Explain the functional classification of towns.
e fofes Moiea (aTiRetem =l < |
(¢) Draw an outline map of India and mark the locations of the

following therein :

SIS E GBI (MYaiE Q4 SHbE Sga= 91 OIS O ete AR
TR (Tl 8

(i) Digboi (f&sita)
(i) River Brahmaputra (F5=@ J11)

(i) Jamshedpur (STEAR)

34T GEOG
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